T o e

1376 =2753 -
9x535=

2628 ~ 18 =
60x 7 =
4.05+1.79 =

Write 126 in Roman Numerals

8x =56
1072+ 8 =
Round 963 to the nearest 10

Find 50% of 2400 =

2535=3642-__
9x753=

4509 + 27 =

60 x 700 =

6.73 + 0.88 =

Write 1284 in Roman
Numerals =

/7x__ =84
1424 + 8 =
Round 8758 to the nearest 10

Find 60% of 2400 =

8634 =12863 -
9x1643 =

5586 + 38 =
0.6x0.7 =
13.05+7.96 =

Write 2270 in Roman
Numerals =

Ox =72
1592 + 8 =

Round 19846 to the nearest
10 =

Find 70% of 2400 =



1376 =2753 - 1377
9 x535=4815
2628 + 18 =146
60x 7 =420
4.05+1.79=5.84

Write 126 in Roman Numerals

= CXXVI
8x7=56
1072 +8 =134

Round 963 to the nearest 10
=960

Find 50% of 2400 = 1200

2535 =3642 - 1107
9x753=6777
4509 + 27 =167

60 x 700 = 42000
6.73+0.88=7.61

Write 1284 in Roman
Numerals = MCCLXXXIV

/7x12=84
1424 +8 =178

Round 8758 to the nearest 10
= 8760

Find 60% of 2400 = 1440

8634 = 12863 - 4229
9 x1643 =14787
5586 + 38 =147
0.6x0.7=0.42
13.05+7.96=21.01

Write 2270 in Roman
Numerals = MMCCLXX

O9x8=72
1592 -+ 8 =199

Round 19846 to the nearest
10 = 19850

Find 70% of 2400 = 1680



